
 

Exponentialfunctions

An exponential function with base a has the form
f in an

where a 0 a 1 otherwise feel 1

Any exponential function has
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What about fee E h

note that a 1 N 2 K So from
what we have learned in the section about
reflection the graph of fans E k will be a

reflection of y 2K along the y axis

t

Similarly fans 3k will have a graph which is a

reflection of fin 3 along the x axis

g Sketch the graph of foe 3 2 1

Sod we'll first have to reflect the graph of 3h

along the y axis to get 3 2 then reflect the
result along the x axis to get 3 2 and finally
an upward shift by 1 unit to get the graphof
3 2 1
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Solving Exponential Equations

whensolving equations involving exponential functions
remember the important rule

For a o a L are at D se y
bases must be the same

E.gg Solve the following
a 332 35 b 33K 95
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Soth a 332 35 D 32 5 D U Eg

b 332 95 The bases are different right now
However observe 9 32 and recalling the properties
of exponents we get

332 f 5 310 32 10 D 2 103

c 4k E g k 2272 2 23
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note that the bases must be some for solving aka't



Thus for example 32 5 cannot be solved using
this method So we need better techniques Logarithms

The number e

DefI e is a constant e 2.718281 such that

the graph of e has slope I at u 0 Veryimportant
eie next chapter
or

e him I In h next chapter
n o a

e 8 an extremely important constant w applications in
maths biology finance etc

e Sketch the graph of e 2 3
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shift right by 2 units

e
k 2

3 I move upwards
by 3 units


